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Topic:- Child Development & Pedagogy (CDP)

1) Albert Bandura was a proponent of which perspective of personalities? / K WT e & forg uftieg & uwaas 4?2
1. Humanistic/ AFaaTg!

2. Behaviorist / agRaTG!

3. Psychoanalytic / TFIfG=eroor

4. Social cognitive / TS TIHTED

Correct Answer :-

« Social cognitive / TS FIHATED

2) The differences observed among different human groups are typically ./

R T TR F S TR T R Imd: g gl
1. genetic / STARIP (SHICH)

2. cultural / ARG e

3. artificial / A

4. heredity / IRTHH @RS

Correct Answer :-

o cultural / Wﬁﬁ;

3) Success of Inclusive Education depends most importantly on: / THTARI fRI&T BT AherdT a4 Wedqul 0 ¥ 39 R il ol @:

1. High quality textbooks / 3 TUTadl &1 UTGAYRddh
2. High quality teaching learning materials / 3o T[0rdl b1 fRI&0T SERTH reft

3. Community Support / mwih
4. Additional change among teachers / et & g sifafad Seama

Correct Answer :-

« Additional change among teachers / fR1&/®! & &g ffdfead dgaa

4) Kohlberg and his associate postulate _ stages in moral development divided into three major levels. /

FlgTl R TP Fear draFAT e fr AT oA sawursii &) &= wa Wi & faurfma frar mar 31
1. Two / al

2.Six / &8¢

3. Nine /

4. Four /dR

Correct Answer :-

. Six /98

5) Development never stops. This statement emphasizes the principle of: /



e w1t 78t Fa a5 A e Risia waR @ e:
1. Integration / WUT

2. Individual differences / G HANG

3. Uniform pattern / THHHT Yo

4. Continuity / IREGEG]]

Correct Answer :-

 Continuity / IREGRG]]

6) Learning to drive a car, singing or memorizing a poem or mathematical table etc need exercise and repetition of various actions and movements
many times. These cases of human learning which involve the connections in the brain being strengthened or weakened are part of which law of learning
by Thorndike? /

PR, Tifta a1 a1 wiaar ar v aifereT snfe & arg @ F g $3 aR e iR Al St aur Tara-l & QARG St smaRadhdl gl 81 91Fg
SRATH & 39 ATl §, AiGTSh § TaY Aogd 91 U 814 8, T8 YHSI5® & AR &1 Si=-a1 g 82

1. Law of exercise / 330 &7 a9
2. Law of effect / THTd &1 a9

3. Law of readiness / GeRdl &I (a0
4. Law of Attitude / 31f¥gfi &1 g

Correct Answer :-

« Law of exercise / 3309 &1 FaH

7) The function of Educational guidance is: / m Arfexq o1 Hr’f %:

1. getting the best out of education/ e 1 Tataw A ST

2. understanding the philosophy of great educators/ HgI et & g=F B HHSATI

3. giving occupational information/ A STHHRY ST

4. inculcating social interaction among the students/ EEICKIERIGINE RGN EEEI

Correct Answer :-
« getting the best out of education/ TRr&fT S gAY ST

8) The best method to study diversity among pupils is through method /
ol & fofRuar s PR FTaaR seTadter . fafr g
1. Introspection / 3TAfRYeror

2. Experimental / TS

3. Observation / 3P

4. Case study / FY S

Correct Answer :-

« Observation / MGRICE|

9) Cephalocaudal means: | Aparhed &1 3 %:
1. Head to toe / RR Y TR

2. Whole to part/q:ljh‘?~ 3HifRH

3. General to specific / TR & fafkme

4. Center to periphery / T 9 URfYy

Correct Answer :-

« Head to toe/ RRI W



‘Whose theory focuses on the culture in which a child grows up in? /

Rrgia Wpfa W Hfa wear 8 forad v san geT T 22
1. Fromm / TTH
2. Freud / THIGS
3. Vygotsky / EIEUISICHS
4. Kohlberg / Igae

Correct Answer :-

* Vygotsky / W

11) A child learns to stand up only when a teacher enters the room and not when a student or any other adult does. What principle of learning explains
this behavior? /

TP T $aa a4l ST BT ¢ 5d & Y | T ST & 7 fF 519 BIS O AT IS 37 T9EP Ta BT & | SARTH 1 B a1 Riegia 39
AR B ARSI BT 2?2

1. Stimulus discrimination / S&u® faucIeur
2. Stimulus generalization / JETH ATHRAHRT
3. Stimulus response / 384 SfeHaT

4. Stimulus observation / G_?ﬂ'W Teor

Correct Answer :-

« Stimulus discrimination / S&1ue fandiemRor

12) What would an intelligence test that deals with experiences common to all cultures be called? /
T g3 Tteror an R St |t SRepforat & W srgval & Tefta 82

1. Culture forward test / Wﬁ‘[ S TRigo

2. Culture biased test / S Icl T&UTT URI&0T

3. Culture free test / TR Ic T URTEf0T

4. Culture fair test / S Icl I8! URTEf0T

Correct Answer :-

« Culture fair test / S Tcl &1 URTE0T

13) What types of questions assess knowledge of general information in an intelligence test? /
T gfeg THEU1 A T SBRI & I BT Yedin {8 TSR & 0% &34 82

1. Comprehension / S

2. Information / I[A-1T

3. Similarities / H=Y

4. Proverbs / dgldd

Correct Answer :-

o Information / @1

14) What is most true mental health problems? / T TRAMA® WIS TRA THETY FIT 82

1. Mental health problems means unable to do work./ ORI TR A3 BT Hdad HH B3 7 gl 3 %I

2. Mental health problems means unable to recognize people and things around. / TRy TR gawne) &7 3 %, AT 3R ST 7 <ot CAkE|
EREEIEEI

3. Mental health problems can affect the way we think, feel and behave./ HHR® Wy Repaneaeg E‘Hﬁ ?ﬁ?lef, Hegd P 3R dgR B P Wb B
T IR bl B

4. Mental health problems can affect the way we respond./ HARe Wy WTQ Eﬂﬁ SIdTd ae[ & P P UHIIT HR Tbait %I

Correct Answer :-



« Mental health problems can affect the way we think, feel and behave./ HTRID TR THRITY, THR Wi, AEYY B 3R AR HIA &b aRlh bl
U IR Tt |

15) What type of intelligence is likely to be used during a game of cricket? /
e & B9 & IR, 5w TR 3 gfSw & Iuhiv fFg o &t Sve 32
1. Bodily-kinesthetic intelligence/m—ﬂma—ffm

2. Naturalistic intelligence / STHTd® §@Tﬁﬂ

3. Musical intelligence / Fiitq wae Tg"@'ﬁ?ﬂ

4. Linguistic intelligence / stﬁ?g:@nw

Correct Answer :-

« Bodily-kinesthetic intelligence / ITRIRa-TTfaiad} gfgwram

16) Apart from formative assessment, another type of assessment that provides insight about the sufficiency of instructional materials is: / I THP

ST F AT, TP 3 YR PT ATHT Sl (HGTHS AHRGAT 1 Ghitad & aR § Saer® e Hear g
1. Diagnostic Assessment / FerEs e

2. Interim Assessment / 3{cRH Teer

3. Summative Assessment / IS 3MhaT

4, Entrance Assessment / TR 3ThHeT

Correct Answer :-

¢ Interim Assessment / 3fARH THeT

17) Zone of proximal development refers to: / wﬂm ﬁm Cal &}5[ Waﬁ-fﬂ DIl %:

1. What learners have not yet developed / Rremdff 3 snft 7o T fafya BRG] %?

2. What learners can do with or without help / TR1&meif TgTaaT & Ty a1 ISP 3T 1 IR Fopal &2
3. What learners are able to do proximally? / Rrendff gHiuf®y o w3 ® gem %?

4. What learners are able to do distally / ﬁl&ﬂ?ﬁw T H | g&H %?

Correct Answer :-

« What learners can do with or without help / fR1&mif TeTrar & w1y a1 IS 9T 1 IR Gl &2
18) Pedagogy is the study of ./ Rremme BT TT B

1. Learning process / 3TTH Ufopam

2. Teaching method / Rreror fafyy

3. Guiding students / BT &1 IS HAT

4. Education / frefm

Correct Answer :-
o Teaching method / Regor fafy

19) Harry loves solving puzzles everyday as he finds solving puzzles fun and exciting. This is an example for motivation. / %ﬁ Eal = fea
TR Y g0 BT 9gd URiG & TP I Ut B JAHHT SIS 3R AHUd arar g1 T8 RN &1 U SSERU B |

1. intrinsic / &Iﬁ%

2. extrinsic / &I

3. fear-based / HI-SIHTRA

4. power-based / TIfadd-3mema

Correct Answer :-

« intrinsic / 3[d %



20) Who argues that the mediation of someone more knowledgeable is vital in learning? /

B aP a1 & b N Y e, aif¥re giaw aiftma & Aoyl @2
1. Piaget / fomSt

2. Erikson / SR

3. Freud / IS

4. Vygotsky / W
Correct Answer :-

* Vygotsky / a'IBThT\tWﬁ

21) Who proposed the idea of fluid and crystallised intelligence? / dX¢l iR B §@Tﬁ" % faaR &1 uware faa @
1. Cattell / 0T

2. Gardner / &R

3. Sternberg/E:fan

4. Guilford / w1

Correct Answer :-

. Cattell/ Fed

22) Adolescence means: / fPaiRTaRT 31 3[21:% :
1. To do work / DPTH DT

2. To grow / gl

3. Toplay/ [T

4. To study / &I HAT

Correct Answer :-

o Togrow / de-l

23) CANCELLED

Beliefs about fundamental categories and properties of world are
3Prar o8t vyt Aol o ot & R & R, #

1. Epistemic beliefs / STTHIHID faym

2. Epistemological beliefs / R oy

3. Ontological beliefs/ HTHID fayra

4. Axiological beliefs /mﬁm

Correct Answer :-

« Ontological beliefs/ ST [y

24) Symposium is a type oflmmwmﬁ %I
1. Demonstration method /ﬂﬂ'—‘!ﬁﬁﬁf

2. Lecture method /Wﬁm

3. Discussion method /ﬁaw-ﬁmfﬁf@r

4. Discovery method /@\_ﬂﬁﬁ[

Correct Answer :-

e Discussion method /ﬁﬂR—ﬁT{‘\’fﬁﬁ

25) According to Vygotsky, the major emphasis for cognitive development is: /

AP F AR, TFHTHS BT & forg g =ik §:



1. education / f?[&ﬂ
2. religion / eif

3. intelligence quotient / W
4, social factors / T GRIRRUTT

Correct Answer :-

« social factors / GTATRTG URFRUfY

26) The aim of scientific investigation is to provide students opportunities: / aﬁTﬁﬁ? Elckal a%;m: B B AT AR WS BT %:
1. cognitive processes only / Had GHTHED Ufsparait

2. to use concepts only / BT TR BT ITUNT FH3 & oy

3. skills to solve problems only / Had gHETN B B AP ﬁ'ﬂ B

4. all of the above / JTRTF T+

Correct Answer :-

« all of the above / SURTa THt

27) A child suffering from dysgraphia has: / feanfear & Tﬂ'%‘cr = B = T;-ﬁ'(ﬁ %:
1. Language difficulties / HTST b= Eb'f%“rﬂ'sc

2. Low mathematical abilities / it iR ermar

3. Reading difficulties / Uﬁﬁ?%_'ﬂg

4. Writing difficulties / foRa & i3S

Correct Answer :-

« Writing difficulties / foRa & g8

28) Learning by Project Method is technically known as: / W& (WA A gRT R Tt =0 A Hear e:
1. Adequate learning Phopsii it et

2. Efficient learning / THTAT S1feTH

3. Incidental Iearning/ﬂm.ﬁw ST

4. Systematic learning / ARy SferTH

Correct Answer :-

« Incidental learning / TTERT® S{feRTH

29) With respect to Principles of Child development which of the following is false? /

Fafafea # & o a9 oo™ & Risia & @9y § sh 32

1. Development depends on maturation and learning /ﬁW, IRUHdr 3R Wmﬁﬁm%l
2. Development proceeds from specific to general /W, ﬁﬁl@?ﬂ@[ GTATIAT B 3R dedl %I

3. Development proceeds from simple to complex /T, TRAAT Y Sifeetd ot G‘h?aa?ﬂél
4. Development proceeds from top to bottom /T, FT TR Wm%l

Correct Answer :-

« Development proceeds from specific to general /W, m?ﬂ@ A BT 3R dedl %I

30) Typically, children create gender stereotypes by ./ TR R, T form Fﬂﬁ"-ﬁm EEIG] %I
1. not socializing due to gender-specific activities / Wﬁﬁ]‘g nfafafert & wrRur gHTSiER :lﬁ E’ﬁ W

2. focusing on the negative attributes of the opposite gender / faudia o1 & BRI ‘J,'Uﬁ R o Higd R

3. maintaining gender-neutral friendships with children of both sexes / I oM & =l & Y fe-fsaer gt TG TG

4. sexualizing peers of both genders / gl o o TR | EAt R INCEIEY



Correct Answer :-

« focusing on the negative attributes of the opposite gender / faudia fort & THRIES IJ,'Uﬁ R & Hfgd R

Topic:- General Hindi (L1GH)

1) Th WG AR F Heq A TR F A1 ot Ricwh Jgar 81 78 O gt e Iuf3=i & @i IR 39S R YUE USTI 9 3NHST & YHe T0 1 1k 9
QN S AT T b Sarera) 3 Bt WA Wl Y@ d €1 ¥ wvrar 8 9 et o A i Yad wiw § 81 1885 § gRIu A 9 2t gl d frelt
3R PP HETeH B! 3TUF H dic foraT| 39 TRE A MPIHT S SUISKR o2 Bt Famd Wt Yareit & 771 7| frevive walkml # 811 arelt ve far 81 snier &
U & Ierevur | yar TadT ¢ % 59 wE T te A faft Yy § wfda & Tefiewor & uilt 9 IR guifad &% Tl 81 SMTeT 39T WETeRT U7 W8l R
S SR Wil BT 3/pd WK 4TI TIHT aRT Wi iR IRTHY | 49 A & g snpiet uga A1 Al 3% 781 auigdl @1 YR ot ot vt | 987 o ok
Tt o A i 5w @ Ag=aT &7 F STas[E BT T8 BT AT A | SRS IBIHT I AMETS) agd HH At 3R 98T SuTSH HWIYH! BT aoig A ARN bt
TR ST A Gt g1 o o 1 3 39 91 F1 B ovewa g1 A o 39 wEm & Riw s

TR AR A SPTHT & AN Y TR IR A & Y $5 aid 3| S0 | $7 1 3% 7 §1 AR W 391 SifRIe 9 T T b 39 A a €Y 3aT IR
Tra & St @ SR TR A $TH S A1 SWIUBR F BT B ged 14a1 7411 39 fpaft it uRaR &1 te & Tewa siii| &1 ISR a9 Tl Tl 399 3
T B Aot B TR 1ed ST UST1 W H BTH A a1d Aolgl &Y Hud & HiaR & 3@ o1ar o7 SR 3 gar ga i ge Tt At Revive &1 snpter §
SR 1880  IRTh $ RAR T GIT 4T TE AR I Get & ary oS <At St fyfewr wlRmn & e 1w 41 ¥ 37 3eferam AfF! 31 wgg & forw fvan mmam ot <Y odff
SPTHT H TRITAT IR Smepwor 2 3@ A1 fisvive @ sifthet # fonlt Sivre &Y o ot ave T 7151 1892 ST 3T U8 AR Pt & ufdnft de a@ uga gt A

IrfaT TR P UgepT TR IR T YR $T IR qaTSy|
WY: RITIT @RT ATa1 &1 & qravig 3T 78] ST 9184 A2
1.5

2.5
3. RM
4, fomran

Correct Answer :-

2) Th WG AR F He A TR F A1 ot Ricwh Jgar 81 78 Y gt e Iufa=i & @RI IR SHST R YU USTI 9 3NHIDT & YT T 31 TR @
TN <Y ST TaT 9a b SaTaTaR a=it Bt WaTd Wl Y & ¥ 1 ¥ wwrar € S el v A dieh Y@ T @ 8 1885 § gRig B 7Y wiHat il A frelt
3NX 3PP HETCW DI 3TUF | dic foraT| 39 TRE A MPIHT b SUIGHRR o2 Y Hiamd Wt Yareit & 771 7| frevive 7wl # 81 areft ve ARt 81 snier &
fsTiRe & IeIeRuT A Uar gedr @ [ 5w ave ¥ ue S it yumr & wifea & aievor w1 uit dR R quTiad 3% Ao 81 3BT T HETSRT AT Wl W
S 3R Wi T 2rgd SR ATl TR | @i 3R a1 @ 41 $HA S 1T anfiet uga 31 afe 3¢ et weigdl 1 Wifl &+t St vt a8 wo ik
S wwwr & At i R A AT 37 F A1G9E FTH TE] HIAT A6 3| RIS SPIHT P 1aTd) 95 F9 R 3R 5T Iuesy wareHl 3t a9iw | @Ni 3
TR ST A G B T o 1 3 39 919 31 B ovewd g1 A8 0 30 wEm & Riw sm

TR AR 7 SMBTHT & AN B IRA W T & AT B a¥idp SuTY | 399 A 59 - el M &1 ARl wR ga-T Sifires 3Ry @ a1 i 39 ad al 8 ere1 a7
Tra & St @ SR TR A TH $Yd A1 SWIUBR $ BT B 9ed a1 1411 3rd fpadt it ular &1 te § e silie &1 IRIRGR a7 TodT Tl 399 3
RN Y TeTgR FIA TR A1 BT USTI W A B HA a1 Toiglt B U9 F War € 3@ Sran o1 3R 3% gar g @5t ge 78 <t fsvie a1 snpter &
STTHA 1880 P GRIP & AMAR A g3 4T Tg U 37 st & A1y s <t =it ffewr ufkran | e 7w A1 ¥ 39 geferam Afe! 91 wee & forg fovar war ur oy qdf
ST B Tifear W amror o7 T8 A1 Nevive g aifihewt # fbwft sia it omT ot ave B 11 1892 311 3 g5 Ut it & ufdndt e aw uga gt &

IUYe T B UgH} A IR T U $T Sk qa3¢|

U: Wi 3R I | 4 HHM & g enpteT B9 uga 32
1. TRERE |

2. QRO @R

3. URd AR

4, 3RT H AT

Correct Answer :-

. R

3) TP @R AR F Had A R F aRN ot Rigilt Sgar 8t 78 df g R Sufazi & @l IR SHST 931 TUTT USTI 9 SBIBT & SMYHE Ta=1 B 1R
TN Y ST T A b SaTGTaR A= Bt AT e Y & ¥ 1 ¥ e € S el v A i Y@ D & € 1885 W gRiw B oY wiat afeha A frelt
3R SPIPY HETeR BT MUy # §ic RRraT| 39 RE A SPIPT b SIS i Bt WATd Wt Yameit # 771 7| FisviRe wafma) # 819 archt ve SRt 21 s &
fEsTiRe & IereRuT A vaT Tadl @ [P 59 ave @ ve furh frft yumr & wifed & aeiteor Byl dR IR guTiad X Gl 81 3MPThT U1 HETSRT AT gl W
W 3R Wil BT Srfd WeR ATI gAY |1 @iA SR AR & 41 HHM & 1Y 3Pt uga 31 afh 3= a8t Ueige] &1 uTel &t Srait ugt| 98f e oix
T T A At 6 R @11 Aga1 31 ¥ STav[E BT T BT A A | SRS PIPHT P SAEIS) 95 HH At 3R a8T Iudey HHIYH! BT a5ig A ARN B
SR AT & T B STl oft | 3 39 9T B I oo & et A o O v & R s a3

TR Y A ABYBT F AN BT IR W AR & Y H 1P AT | IT0 | $O A1 e 1 &1 @ W ga-7 ifirep oy avmman T %5 I/ baa a1 & g1 H%
ra A o @ 3R I § BT B A | IIRMUPR F B B ged foar 1ar1 3 [t 1t ufar o1 v 8t g sfts &1 ST a9 Tdr 471 399 3
RN BT WTgRt A TR A1 BT USTI W W B HA a1 Aot &1 $ud F Har € 3@ oran o1 3R 37 gar g @t ge 781 61 Rsvie a1 snpier &
ST 1880 % GRTH P ARG T G3AT 4T T§ AR I Wet & 1y S It 5 ffesr vRrr | e 1y &1 ¥ 3 geferam ! 3t weq & forg fosam mam o1 =iy qdf
STt § TRIEET IR mpaur % 32 A1 fievive R siftheT & fandt Siver 31 o ot ave Tl 1S 1 1892 ST ST 98 AR sipieT & ufdndt de a uga gt 4t

SUYH T P TGP 12 gD ¢ ¥ P IR Fas|



TY: WIHT AT A dgarad | T Higlg UT?
1. fordh SR urit

2. 53 i el

3. 91 SR gl

4. THH 3R T Huer

Correct Answer :-

4) TH @G AR F e A R F anif & Righ Igaw &) 78 df gad @ Iufasi & Al IR 3HST 911 YT USTI 99 ABIST & MYFHe 7o B IR d
FQN A ST AT Tk f SaTera) 30 Bt ATy Wl Y@ A €1 ¥ wvrar @ 9 el o A el Yad wiT § @)1 1885 F gRIu #Y 9 2t afei o frel
3R PP HETeH B! 3TUF H dic ATl 39 e A MFIHT S SUISR o2 1 Famd Wt Yareit 771 7| frevive walkml # 811 arelt ve 9 31 st &
fisxie & Ierexur @ Ul To & P 5 ave @ Te Sl fadt qur § e & aeftexer ) uif IR w 7l o3 wed 81 et 3T Werew ot Wef ™
S ok Wil FT 3rpd WK 4TI gIIHT @hT Wit iR T & 49 3 & g snpiet uga A1 Af%a 3= 98T auigdl @1 Uit ot ot vl 967 o ok
TS T A A 7% TG @1 ATaM1 3 F T1avig TH 81 ST 918 U1 ST 3NBIHT P ATETc! 9ga wH At 3R 98T Suaey Ture=l &1 aoig | @ #1
TR ST | I g Svelt <t I 39 91 B PIS wievd 81 781 Y 7% 0 pum F R s w1

R A SPTHT F AN BT T R A P ¢ $5 1P A | 390 | $2 - 3% 710 &1 AN R 301 3ifirer o 1T T fob 39 A af €Y 31eT IR
I A S G SR ITHT & S0 BRA A| ITRIUBR & B ST 9ad a1 11 31 fobadt oft aRaR &1 v € e Sl &1 ITRITUS TR 957 Tl 471 3709
T BT ARt B TR q1ed ST ST W § BTH A aTa Holgll &Y Hud & HiaR & 3@ o1ar o7 iR 38 gar ga @t ge T8l i1 Nevive &1 snptet &
SR 1880 P IRTH P ATRAR T G3IT 4T T§ AR I Tet & a1y oS <At St fyfewr wlRrn & ame 1w 1 a7 37 32 feram ! 351 weg & forw fvan mam ot <Y qdff
JPIPT | TRITAT W 3meraur #7 T8 A1 Nevie ¥ 3ifiper & Bt Sira 3t 3m1 &t ave e 71 1892 3Md 3 g8 R 3rieeT & ufdndt 9 oo ugw gt 4

ST TR Y TG A IR Y U= BT I« qa1gy

U: 3BIHT T R A &) fre He &) it &1 wrme B s
1. HIoF &t

2. g @t

3. oIl
4. AT PI

Correct Answer :-

.« ARl &

5) TP @0 AUR & Haa A X9 & arn Bt Rt 3gax 81 78 df gadt TR Iuf~azit & @l = gHST 931 TUT USTI O BIBT & MYfAe Ta= & 9 d
TJN A MU ya TeRT b SaTgTaR = @5t rand el Yar & §1 T e @ 9 frelt o A e Yt Wi @ 8 1885 B g0 1 9t wfdwat afedq F el
3R PP HETS B 3TUF H dic foraT| 39 TRE A MPIPT S SUIGHR o2 1 Hamd Wt Yareft & 771 7 | frevive 7alkml # g1 arelt ve 9t 81 snfier &
e & Ierevur | yar TadT ¢ % P9 we T te Sar faft yur § wifda & Tefiewor & uilt 9 IR guifad &% Tl 81 SMTeT 39T WETeRT U7 S8l W)
S 3R T BT Srpd WeR ATl GRINT AT Wit SR AR & U HHM & 1 pieT uga 31 afth I 98T auigRl @1 Wil St Sat ugh| 98T U ok
Tt o A Ft fs ® @ Ag=ar &7 F STas[E BT T8 BT A1 | SRS I I AEIS) agd HH At 3R 98T SuTSH HHIYH! BT a9ig A AN bt
TR ST A G B T o 1 3 39 91 31 B ovewd g1 8 o 39 wEm & Riw s

R = SPTPT F AN B T R A F Y $5 81PN | 390 | $7 ) 3% 7 §1 AN W 3o+ 3ifRrer o AT T fh 39 A o €Y 3raT aR
Tra & St @ SR TR A TH R A1 IWIUPR F BT B ged a1 1411 39 fpaft it uRar &1 v & ewa siiiF &1 ISR a9 ToHhdl Tl 399 3
T B oGt BRA TR a1ed EHT UST1 W § BTH A a1d Aofgl &Y Hud & Hiaw & 3@ orar o7 SR 3 gar ga i ge Tt At Nevie &1 snpter §
SR 1880  SRTh $ TFRAR T G3T 4T | TE AR I Get & ary oS <At St fyfewr wlRrn § e 1w 41 ¥ 37 3eferam AfF! 31 weg & forw fvan mmam ur oY ot
et B Tifear W ameror o7 T8 A1 Nevive 3R aifdhewt & fbwft siva 3t omr o5t ave B 11 1892 31 3 75 st et & ufdndt ae aw g gt

IR TR F1 UgHR 12 IS ¢ YA HT Ik a1y

UY: @ § BT B 1A TG DI HT 3@ 1T AT 3R I 1 Fe 781 A2
1. I H A P TS

2. WETGT IH Bt

3. U9 H SR G gmA Bt

4. 9 H SR II9R S F

Correct Answer :-
. UG H R G A B

6) TP TR AR & Had A R F aRN ot Rigilt Sgar 8t 78 o g o Sufazi & A IR SHST 91 TUTT USTI 9 BIBT & SMYFHE Ta B IR
TN <Y ST Tar A b SaTGTaR At Wt AT Wl Y & ¥ 1 T wwrar € S el v A dieh Y@ D & 8 1885 § gRig Bt oY wiwar afeha A frelt
3R SPIPT HETSRT B MUy # §ic RRraT| 37 7RE I SPIPT &b SUTSTaR i Bt WATE Wt Yamei & 771 7| Fsvive wafdmat # 811 arclt ve SRt 81 s &
ReTiRe & ISTeR0T A vaT Tardl @ [P 5 @ ¥ ve S sl yumr & wifed & aeitevor w1 uil dR IR guTid B Tl 81 BT T HETSRT AT el W
S 3R @il @1 3rpd HeR 4TI QAT @i @ fret 3R T | o9 SHM & T Pt uga A1 Afe 3= a8l ueigdl @1 Uil St Saeht udh| g8l te iR
TS gHE A At fF R @ AT 31 F qTav]g BT T8 ST Ged A1 I APIHT B SMMATG 9gd $H A 3R T8T SuTey JA1YH] FT aog F AR B
SR AT & T B STl ot | 3 39 91 B I oReed & et N fr O FuA & Riw s a3



NI 3 SIBIHT & AT Y TR IR A & g 73 atds SroAmg | 398 4 3 1 i A §1 it R ga siftres o vimarn Tt fos 9@ dadt ot Y orgT B
ra A o Wl 3R I H ST B A | IIRIUBR & I B gad foar 1ar1 3 [t i uRar o1 v & gewa wifis &1 STRIaR) 99 Tohdr 471 399 3
RN Y TTgt FIA TR A1 BT USTI W W B HA a1 Toigll ®1 U F Wav € 3@ oran o1 3R 37 gar g @t ge 781 At fsvie o1 snpter &
STTHA 1880 P GRIP & AT A g3 UT1 TG TR I Uit & A1y s < wit ffewr ufrar & g 1w A1 ¥ 39 g i Afe) 91 wee & forg fvar war ur oy qdf
ST B TR W 3merur o7 T8 A1 Nevive g ifiher & bt wia it 3m1 ot ave e 71 1892 311 3 95 SRt it & ufdndt ae aw uga gt 4

ST TR P TGP A2 TD Y TR BT SR TSI

TY: AfF TSR HR 3§ a1 HR U A < Frufifee wE w e v A1
1. SIS TR G o

2. Tt 3R I

3. A SR T A

4. T SR ST A

Correct Answer :-

o T SR ST A

7) % @ AR & Had A RIU & aRN ot it Sgar 8t 7 o god o Iufasit & i U= SHST 931 TUTT USTI 9 SBIBT & SMYF® Ta=t & 1R
TWN A MUY AT T fF STeTa” I Bt AT Weh Y@ A §1 T wvran @ O el o A e Yt w81 1885 W gRI0 FY 9 =it afeiq o frel
3R PPt HETeRr B MUy # dic foraT| 59 RE | SPIPT &b SUTGIaR S Bt WATd et Yameit # 771 7| FsviRe #afdmE) # 819 archt vo St 21 s &
feevive & Sargeur & wdr 9w § fF 5 we & te Sunt fHe yum & wid & wieru S uf R W v 1 aedt 31 SnPieT 39 HeTes U 9E IR
W 3R Wil BT 3rd WeR ATI GRIY | @ie SR AR & 4 HHM & g anpieT uga 31 afe 3= a8t weige) &1 Uil &t et ugh| a8f e oix
TS TT A N % TG @1 AT G F FIavig $TH T8 ST 918 U1 SIS NBIHT I ATET! 95 HU ft 3R 98T Suasy Wne=l $1 aoig I @ a1
TR ST | I g STt <t I 39 91 B B oo g1 781 i 7 0 pu F e sy ¥

I A SPTHT F AN BT T WR A P Y F5 a¥td 3| 390 | $2 1 133 7 &1 dRN R 301 3iftrer o T T b 39 At ot €Y 3reT IR
1 A &Y W SR I & B0 B | STRIUSR & B S 96d a1 T 3 fordt oft aar &1 v € gewa sl &1 SIRITUSR 97 Twar 471 399 o
T B ARt B W 18 GHT ST W § HTH A a1d Holg! oY Hud & HiaR & 3@ o1ar o7 iR S8 gar ga @t ge T8t i1 Nevie &1 snptet &
SR 1880 P GRTH P ATRAR T G3HT 4T T§ STARY I Tst & A1y 3 At 5 ffewr vRrr | e e 41 ¥ 37 3eferam ! 351 weqg & forg fsam mar o1 oy qdf
YT & TRfTET W e $X T8 U | frsvine T aifpe & el Sivrer 351 oM Y ave e 7 1 1892 3T 3T 98 ARY YT & ufdndt ae ao uga gt R

UG I Y UGB T2 T Y U BT I qTZY
7Y IUMET & AN TR SHDBT BT R TST?

1. 3nd

2.

3.9

4. 3BT

Correct Answer :-

8) TP @ AR & e A T F Al & il Igaw 81 78 dt gad avw Iufazi & Al IR SHST §R1 YT USTI 99 BIBT & MYFe Ta B IR A
FQN A S AT T o Sarera) 30 Bt ATy Wl Y@ d &1 ¥ wvrar @ 9 el o A e Yad wiw § @)1 1885 F gRIu A 9 2GRt afelq o frelt
3R PP HETeH B! 3TUF | dic foraT| 39 e A MHIHT S SUTSRR o2 B Famd Wt Yareit & 771 7| frevive walkml # g1 arell ve ar 31 st &
fisvie & Ierevur @ Ul T & P 59 aie @ Te ) faedt qumt § wfea & aefteor ) i IR R THifa B3 aed 81 nAleT 3T WeTew ot Wef ™
S ok Wil FT 3rpd WSKR 4TI GIIHT @hT Wit iR T & 49 U & g snpiet uga A1 AfFa 3= 78T auighl @1 Uit ot Yot vl 967 o ok
TS T A N 7% TG A1 AeTdH1 3 F FIavig $TH 81 ST 918 U1 SIS 3NBIHT P ATET! 9gd wH At 3R 98T Suasy Jure=l &1 aoig | @ &1
TR AT & O B STl oft | 3 39 9Td Bt Big wRewd 6 gt A fr U A & R st v

R A SPTHT F AN BT T WR A P ¢ $5 1P A | 390 | $2 1 3% 70 &1 AR R 301 3ifirer o T T fob 39 haer af € 31eT IR
Tra & St @ SR TR A BTH R A1 SIITUPR F BT B ged a1 1411 39 fpdt ot uRaR &1 v & ew sl &1 ISR a1 Tohdl Tl 39 3
T B ARt B TR q1ed ST ST WH § BTH A aTd Holg &Y Hud & HiaR & 3@ o1ar o7 R 38 gar gaa @t ge T8t N1 Nevie &1 snptet &
SR 1880 P =T P ATRAR T G311 4T TE AR I Get & a1y IS <At it fyfewr vlRrn & e 1w 41 a7 37 32 i ! 31 weg & forg fvam mmam o1 <Y qdf
SPIPT & TRITAT W 3meraur a7 T8 A1 Nevie ¥ ifiper & Bt Sira 3t 31 &t ave e 71 1892 31Md 3d 98 AR 3rvieeT & ufdndt 9 o ugw gt &
SR TR Y U 2 YD Y TR BT IR TSI
w: for el &) SUARIAT F HRUT SPIBT TR BTH g1 ST a8 d A2
1. 3FSI
2. gAY
3. T
4. al

Correct Answer :-



TP B AR & e § g & a1 Righ dgar g1 18 a1 g8 R Iua=i & @il IR 3HST 9R1 YU USTI 59 3PIPT & 1YfIe 7ot &1 1R | gEit
Y 3MTueh vaT I fob saTera” A=W P WHATE el Yar & €1 T wvar § 9 fhalt o A e Wt &g & @)1 1885 W Ry B 9t wiTaat afiefq A el oiv
3PP HETS B! MU | gic foraT| 39 TRE A MPIST & ISR <2 @t WArg W Yameit & a9 72| fieviw 7alkmt & g9 arell e Sart 81 snfler &
U & Ierevur | yar gadr ¢ % 59 we ¥ te A feaft yur § wfdd & Tefiewor & uidt 9 IR guifad &% Tl 81 SMEThT 39T WETeRT 3T I8l R
S SR Wil BT 3/pd WK 4TI TR @RT Wiet iR a1 & 49 S & g snpiet uga A1 Af% 3= 78T auigdl &1 UR ot Sait vl 987 uop ok
TS wawr A At fr R @ AgHaET 37 F ravg BT T8l HIAT Aed A1 IR BIHT B SATaTt 9gd HH A 3R T8T Suaey JA1e=l P aog A a3
TR ST A T g Sret <t I 39 91 B BIS oievd 81 81 Y 7% 39 e F R s w1

TR AR A SPTHT & AN B T R A F Y $5 a¥iP 3| S0 | $2 1 3% 70 §1 AR W 391 3ifRre 9 T T b 39 A af €Y 3aT IR
Tra & S @ SR TR A TH R A1 SWITUGR F BT B ged a1 1411 39 fpaft it uRaR &1 v & ew siiiF &1 ISR a5 THdl Tl 399 3
T B Aot B R 1ed ST UST1 W H BTH A aTd Aolgl &Y Hud & HiaR & 3@ orar o7 SR 3 g1 ga @t ge &t At Revive &1 snpter §
SR 1880  IRTh $ RAR T G311 4T T§ AR I Get & ary oS <At it ffewr wlRrn & ame 1w 41 ¥ 37 geferam ! 3t weg & forw fvan mam ur <Y odff
SPTHT H TRITAT IR Smepwor 2 3@ A1 fievive @ sifthet # fonlt Sivre 3 o ot ave Tl 7151 1892 ST 3T 98 AR Pt & ufdnft de a uga gt A

Irfa TR $Y UgaT T U T IR $T IR FaTSy|
uy: fFg HeTeY & Weraw Y Y W Weft Yearal & a9 w2
1. TR

2. T
3. 3BT
4, TCferan

Correct Answer :-

10) TP TG ATIR & B A GRU & @il 31 Riglt Jgar 81 78 df gadt TR IJufazi & @Rl IR HST 9R1 TUTT ST 519 SBTST & My TaRt & 1k &
TN Y S vaTr IA b SaTeTaR 3R @t AT e Y & ¥ T wvrar @ 9 el o A it Yar di & gt 1sss & gRiu o5t 9 =it aftha o faedt
3R SPIPY HETeRT B MU # §ic RoraT| 37 e T SPIPT &b SUTSTaR i Bt JATE et Yamei & 771 7| Fsvive 7afdmat # 811 arclt ve SRt 81 s &
frsviee ¥ Iarexur | yar waar ¢ fb b aie | Te St fed Yy § fdy $ Tiiewor B Ui G W TUTRIT B Tt 31 SAPThT SHT WEIRT AT WEl 1Y
S 3R @il BT 3rpd HeR 4TI G @i @frer 3R Il | 9 SHA & RiT snpieT uga 31 Afe 3= a6l deigdl @1 4l St Saeit udh | g8l we iR
TS gHwE A At fF RIFTG @ AgaET 31 F qTavig BT T8 ST Ged A1 I APIHT B SATAT 9gd P A 3R T8T SuTey JA1e=] T aoig F AR B
TR AT & T B STl ot | 3 39 9T B I wRewd o 8t N fp 0 FHA & Riw s a3

TR @ A ST & AN Y IR R A F T w5 it s | 3R | o R A T § 1 ARl R 3o Siffrer o T T b SR At at €Y sreT AR
ra A o W 3R I H BT Ba A | IIRIUBR F I B gad foar mar| o [t it uRar o1 v & gewa sifts &1 STRIRa) 99 Todr 371 399 3
RN Y TTgt HRA TR A1 BT USTI W H B HA a1 oigl &1 U F War € 3@ oran o1 3R 32 gar 7oA @t ge 781 At Rsvie a1 snpter &
STTHA 1880 P GRIP & AT A g3 4T TE U 37 Gt & A1y s < =it ffewr vfrar | @me e A | ¥ 37 3 i Afe! 91 wee & forg fvar war ur oy qdff
ST B TR W 3merur o7 T8 A1 Nevive IR fihewt & bt wia it 3m1 ot ave b 71 1892 3T 3 95 SRt it & ufdndt ae aw uga gt &

ST TR P TGP A2 D Y U BT IR TSI

UY: SIRIMUPR BT Ted o1 & R UREAR F fohaa @i o1 7= R ARPR 8 Topar 412
1. 9R

2.T&H

.4

4,14

Correct Answer :-

11) T TR AR F e J AU F a1l o gt Sgar g1 718 af gl aRw SufHazit & @il IR 3SR TUTT USTI 9 SHTRT & Y Tt & 1k
FWN A IS AT TehT P STeTaR I Bt AT el Y A &1 T wvran @ 9 et o A Wi Yt Wi & 81 1885 W gRIU #Y 9t wiGaat afei § frelt
3R SPIPY HETeR BT MUy # §ic RRraT| 39 RE A SPIPT b SUTSTaR i Bt WATd et Yamei & 771 7| Fsvive wafmat # 819 archt ve SRt 21 s &
fEsTiRe & IerevvT A vaT Tardr @ [P 59 @ @ ve furh frft yumr & wifed & aeiteor B uifl dR IR guTiad X Gl 81 3PThT 9T HeTSRT AT gl W
W 3R Wil BT Srfd WeR ATI GRIY &1 WiAe SR AR & 41 HHM & g Pt uga 31 afh 3= a8t Ueige) &1 Ui &t Srait ugt| a8f e SR
T T A At 6 R @11 Aga1 37 F STas[e BT T BT A8 A | SRS NBIHT P AEIS) 9gd HH At 3R 98T Iudey HHTYH! $T aoig A ARN B
SR AT & T B STl oft | S 39 9T B I oo g e i fr U v & Riw s w30

TRIHT T A ABYBT F AN P IR W AR & Y F aP AT | IT0 | $9 A1 33 1 &1 a W ga-1 ifirer oy avmman T 5 I/ bad a1 & g1 H2
ra A o @ 3R I H B Bd A | IIRIUPR F I B ged foar 1ar1 3 [t 1t ufar o1 v & gewa wfis &1 STRIeR) 99 Tdr 471 399 3
RN Y TSIt FRA TR A1 BT USTI W H B HA a1 oI’ B1 $ud F War € 3@ oan o7 3R 37 gar g @t ge 781 6t Rsvie a1 snpter &
ST 1880 % GRTH P ARG T GAT 4T TE AR I Wst & 1y S At &t ffesr vRrr | e 1y &1 ¥ 3 3o afFe! 351 weq & forg foram mam o1 <y qdf
SPIPT B TRITAT W 3meraur o7 T8 A1 Nevive R fihet & Bt wiira it 3m1 &t ave b 751 1892 311 3d 98 R it & ufdndt ae a% uga gt &

IT TR B UGHR -1 & T YR HT I« ga1sy |
TY: TATETR =0 3t AT fa Yar A §2

1. it

2. AR

3.ed



4. &I

Correct Answer :-

. et

12) T R AR & e J AU F a1l o gt Sgar g1 718 af godl aRw Sufazit & @il W ST =1 TUTT USTI OI9 SHTRT & STy Tl &Y 1k &
TN Y ST T A b SaTGIaR AT Wt WATE el Y & 1 T e € S el v A dieh Y@ D & € 1885 § gRg B oY wiwar afeha A frelt
3R PP HETeR B MUy # §ic RoraT| 37 RE | SPIPT &b SUTSTaR i Bt WATd Wt Yamei & 771 7| Fsvive wafdmat # 811 archt ve SRt 81 s &
ReTiRe & I<ER0T A vaT Tardl @ [P 59 @ ¥ ve S frlt yumr & wifed & aeitevor B uil dR IR quTid S A 81 3MPThT 9T HETSRT AT el W
T 3R Wil BT Srfd WeR ATI GRIY |1 WiAe SR AR & 41 HHM & 1Y bt uga 31 afth 3= 98T Ueige] &1 Ui &t Siait ugt| a8f e oiv
TS THwE A At fF RIFTG @ AT 31 F qravig BT T8 ST Ged A1 IR ABIHT B SAMATG 9gd $H A 3R T8T SuTey JA1YH] T aoig A AR B
SR AT & T B STl oft | 3 59 9T B I wReed & et i fp O FuA & Riw s a3

TR AT A ST & AN Y IR R A F Y 75 atd s | 399 | 7o R 3 T €1 ARl R 3o Siftrer Qo T T b 3R A at €Y 3reT AR
ra A o @I 3R I H B B A | IIRIUPR F I B ged foar mar| 3 [t 1t ufar o1 v & g sifis &1 ST 99 Todr 471 399 3
RN Y TSIt A TR A1 BT USTI WH H B HA a1 oI’ &1 U & War € 3@ oran o1 3R 37 gar g @t ge 781 6t svie a1 snpter &
ST 1880 % GRTh P ATFAR T GAT 4T Tg AR 37 et & 1y oS At 5t ffewr vRrr | wme 1y &1 ¥ 3 geferam AfFew! 35t wee & forg fosan mar o1 <y qdf
it § TRITAT IR Smpaur % 32 A1 fievive R siftheT & fandt Sive 31 o ot ave Ha 11 1892 ST ST a8 AR it & ufdndt e a uga gt &t

ITY TR B UGHR -1 & T U HT I« ga1sy |
wy: i 7T 32

1. U YR &1 drel

2. U bR HI Qe

3. HAfRT & g arell ARt

4. 7S ¥ g1 areft SRt

Correct Answer :-
. Hafkedl & g1 arell ARt

13) U @ AR F e A TAU F a1 & it Sgar g1 715 af gl aRw Iufazit & @il IR 30T GR1 TUTT USTI 99 SHTRT & STYfs T &Y 1k |
FWN A MUY AT TehT fF SaTeTa” I Bt AT el Y@ A &1 T wvrar @ 9O Rt o A e Yt ©iw @Y1 1885 W gRIu A 9 =it afei o frelt
3R PPt HETeR B MUy # §ic foraT| 59 RE | SPIPT & SUTSTaR i Bt WATe Wt Yameit # 771 7| FsviRe wafmE) # 819 archt v St 21 s &
fesvive ¥ Ierexr | vaT g ¢ fb 5w ave | v St il yumr & =fda & TiieRor &1 Uit dR W quTiad SR Tt 31 SBTHT 38T WETRT AT wigl IR
W 3R Wil BT 3rfd WeR ATI GRIY |1 @A SR AR & 9 HHM & g Pt uga 31 afh 3= a8t weige) &1 Ui &t Siait ugh| a8f e oix
Tt T A At 6 R @11 Aga1 31 F STav[e BT Tl BT A8 A | ST BIPHT P AT 9gd HH At 3R 98T Iudey HHIHH! BT aorg A ARN B
TR ST | T8 g STl <t I 59 91 B P weva g1 781 i 7 0 pum F e s ¥

TR AT A SPTT & AN Y TR IR @ & Y 5 adtd 3| 30 | $© ) 33 T €1 AN uR 39T Siftrer o T T b 39 A af €Y 3eT IR
Trd & St @ SR AR A TH 3 A1 SIIUGR & BT B ged a1 1411 3rd fpdt oft uRar &1 v & waw sl &1 IIsR a9 Tohdl ATl 399 3
T B ARt B R q1eh EHT UT| W § HTH 3 10 Holgt oY Hud & HieR & 3@ orar o7 ok 38 gar ga @t ge T8t f1 evive &1 snpter &
SR 1880 P GRTH P ATRAR T G3HT 4T T§ STARY I Urst & 1y 3 At 5t ffewr vRrr | e 1 41 ¥4 3 3eferam et 351 weq & forg fovar mam ot oy qdf
SpTHT § TRIEAT IR mpaur % 32 A1 Fievive W sifthet & fdt Sivre 31 o ot ave T 1S 1 1892 ST 3T 98 AR bt & ufdndt de a uga gt 4t

IUY TR P UgHT 1 TR TE U PT SR Iq15y|
Uy 7 e A gRIT F @ B it dgaR g e
1.t

2. 3{IId

3.9

4. MUR

Correct Answer :-

14) U WP AR F b A AT F A1 3t Right Jgaw 8 715 @ god e SufIi & Al W 0T G THTE ST ST9 SIpTPT & Sye o o) 1k &
FEN A SR AT Tk o SaTeraR 3 Bt ATy Wl Y@ A ¥ ar wvrar @ 9 el o A e Yad wiw § @)1 1885 F R A 9 wiHmat afei o frel
3R SPIHT HETRR B MUy H dic fora| 39 avE | SPIPT & SUTSTaR =it Bt WATg Weht Yame & 771 7| Nevive wafldmt # 811 archt ve furdt 81 st o
U & IerEvur | yar Tadr ¢ % 59 wE T te A feaht yur § wifds & Tefiewor & uit 9 R guifad @ Al 81 SMETeT 39T WETeRI U7 el W)
S SR Wil BT 3rpd WK 4TI GIIHT @RT Wit iR IRTHT & 49 S & g snpiet uga A1 Af%a 3= 781 auigdl &1 U ot Sait vt | 987 o ok
TS wawr A At for WG @ AgHaET 37 F Aravg BT A8l BT Aed A1 IR PIHT B SATETt 9gd HH A 3R T5T Uy JA1YH] P aog A AN B
TR ST | T g Srelt <t I 59 9T B BIS oevd 81 781 A 7% 89 pum F R s a1

TR AR A SPTHT & AN Y T IR A F Y $5 a1 3| S0 | $2 1 3% 7 §1 AN W 301 3ifRre 3 T T b 39 A af €Y 3aT IR
Tra & St @ SR TR A BTH R A1 IWIUPR $ BT B ged 191 1411 39 fpdt it uRaR &1 v & e siiiF &1 ISR a9 Thdl Tl 39 3
T B Aot B R 1ed ST ST W H BTH A aTd Aolgll &Y Hud & HiaR & 33T o1ar o7 SR 3 gar ga @t ge Tt At Nevive &1 snpter §
SR 1880 F IRTh $ ATRAR T G3IT 4T TE AR I DSt & a1y oS <At it fyfewr wlRrn & e e 1 ¥ 37 32 feram ! 3t weg & forw fvan mmam ur <Y qdff
SPTHT H TRITAT IR Smepwor 2 3@ A1 fievive @ siftheT # fonlt Sivre 31 o ot ave Tl 7151 1892 ST 3T U8 AR Pt & ufdnft ae a uga gt A

IR IR Y TR 2 T T TR T SR TR



Uy GRIY Bt 31 fRTar afer & od frelf ofiv anplet AeTesr 31 Mo  afer?
11825
2. 1880 |
3. 1852

4. 1885

Correct Answer :-

. 1885 ¥

15) U%h @ AR & had A AU F a1l 3 it Sgar g1 715 af ga) avw Iufazit & alil W 30T R TUTd USTI 99 3BTRT & STyfe a9 &Y 1 |
FEN A ST AT T o SaTeraR 30 Bt WAy Wl Y@ d €1 ¥ wvrar @ 9 el o A e Yad wiw @)1 1885 F gRIu A 9 2t afei o frelt
3R SPIET HETIRT B My  dic forar| 337 avE | SPIHT & SUTSTaR =it Bt WATd Weht Yama & 771 7| Nevive wafldmt # 911 archt ve furst 81 st o
frsvie & Iarexur @ Tl To & P 5 ave @ Te Sardl fadt qum § e & aeftexer ) uif IR w 7l o3 wed 81 et 3T WeTew ot Sef ™
S ok Wil FT 3rpd WK 4TI GIIHT @it Wit iR a1 & 49 A & g sniiet uga A1 Af%a 3= 98T auighl &1 Uit ot et vl 967 o ok
TS T A N % TG @1 ATaMH1 3 F Iavig PTH 81 ST 918 U1 IS 3NBIHT P ATETe! 9ga wH At 3R 98T Suaey Fune=l #1 aoig I @ #1
TR AT & O B STl oft | 3 39 9Td Bt Pig wRewd € gt A fr U v & R st

R A SPTHT F AN BT T WR A P ¢ $5 1P YA | 390 | $2 - 3% 70 &1 AR R 301 3ifRrer o T T fob 39 haer af € 31eT IR
Tra & St @ SR TR A $TH R A1 SIITUBR F BT B ged 191 1411 39 fpadt oft uRaR &1 v & ew sl &1 ISR a1 Tohal Tl 399 3
I B ARt B TR q1ed G ST W § BTH A a1a Holgll &Y Hud & HiaR & 3@ o1ar o7 SR 38 gar ga @t ge T8l i1 Nevie &1 snptet &
SR 1880 P =T $ ATRAR T G3HT 4T T§ AR I Tst & a1y oS <At St fyfewr wRrn & e 1w 41 ¥ 3 32 feram ! 351 weg & forw fbam mmam o1 <Y qdf
SPIPT | TRITAT W 3meraur #7 T8 A1 Nevie ¥ ifipeT & Bt Sira 3t 3m1 &t ave e 71 1892 3Ma 3d 98 TR 3rieeT & ufdndt 9 o ugw gt 4

ST TR Y TG A IR Y I BT I« qa1gy

T gRIVY @l 3Pt & @il ®1 fh R A & forg + a6 sruee?
1. SGTSI TR

2. IRW

3. AW

4. IR

Correct Answer :-

. IR

16) HIEY A A TSP W T B W AR &
qee-g9%

TR FH WA T

TAR HY $) Wed HAHS UfHRT R 9%
YT § 39 e & @ R s
forat i =nfee 3 gare #t _E

FTH W F 13 § T2

a1 Safver # R 7 § A 3

1 duet @ fRr ¥
Einkacraifcnicikal

HITFTA UETS & 19 g9 ¢ & AR o=
w1 et yHu H e TE ¥

I 7eRE! 3 gARA

TR AgH, AR R &R W F i
T § T E THEH

it fbR o & @ s g @2

fra waIe ST SAR T gt

T § Aif T ot e ae

o & w8 I srammg

W g B 5ER S @ oA §Y
9w, 9gd BI¢ B T

BT T ST 78 &l



ST TRIY B TeHR 1Y U WA a1e U2 T Sk Iarsy|
w: forw -t dier ot fot J @ forar 32

1. Jfear

2. fdm

3. forare

4. $US

Correct Answer :-

17) IR A EH TSP W I FHW AR T
qee-g9e

TP RARE

TR T FT TGS YIS U § a8

YA § & Rrawor & g R s

@ w1 T 39 AT B awE

BT W T o1 TR § T

T Spafver & AR 7€ & W A

w1 St 3 @ fora @

I faraht foparat &

T HTA ULTS & -1 a9 ¢ § 9K /e
w fef yHpudieg T E

IR TRl P FARA

T AR M, AR T R o= & Sff
T T Y § TS

ot fbR an €t @ g gl d2

T warT giar R T g

YT § Af g o st 7

5 & wrd e seammg@

W g Bt g9l IS | ToRd §T

9=, 9gd BI¢ B T

FTH W AR B

ST T B TeHR 1Y US WA 91a U T Sk garsy|
US: PEe 4 0! 8P IR 9= $el o1 38 82
1. e & for

2. BHE A

3. A HA

4, Qe & farg

Correct Answer :-

. FHBHA

18) FiEY A EH TSP W T& HTH W A@ &
qe5-g9%

TR U WRAIRE

TAR IHY B Gad HaHS UfRT 8 98

YA @ 59 Rrawor & ave Rar o

T s =TfRT 3@ wWaTd @1 a¥e

P TR 741 W13 § =92



T e & R T § w1

1 duet 3 @ for ¥

| 1 frtt el oY

HITFTA UETS & 19 g9 ¢ & AR faadH
Aty AT T

I 7eRE! Y FARA

7 IR AgH, AR R R w_Y & Sifr
T § T E THIEH

it fbR o & @ s g @2

fra yaIE ST SAR T gt

T § Aifh T ot e ae

o & wrd I seammg@

TR a1 9 TART HS @I § ToRd §Y
¥, FEABR BR T

PTH W AR 7
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| UGTAIT SH dAlchH | TUHET fawy: 3fed sfiFucicraar: AT |
37 STEAV: T Ucell U YA F #afed | d T Ueredn disdr: saied |
TETHATAT JTANUC: Telceha: RISFamm: $d, siicansd dohesreld T Sie
Uvafed dd dgrd Fdd AT Hadifd 3dcar smearwe R |
cehgdeld, AEGH: Sleleh: A IRATA Ag: #1afd swamsfa T |
A Icdl qG: AAdA I I Geafd | dF Icdl o & Joapresfd |
a7 Rud el Udd god fagonfa | @ o #Awyw 3fd oA sneaafa
I: AT GHAY SARATF: AR |

SECHRERY BRI A

qIgguT
1.

JuT
I
3. «

ITOT:

o |

4,

"‘g_p



URTeE ITScal U2TEd AGH FIId -

ThET FeAREd Tod feafd @fed | Ay g fdarew: safd |
{aarax: g fouaey Gaa: | daaat: eaaey gd saafa |
Udarel #F FAFA: IHed: Hafd | Tdary SPelell A I o eadid

| O 376 AN @Y TATSH IeMad | GAGTET TAY SRR sTard
| Jed9AI0T gRI9Aed Yord | 37§ fafgam: aral: 3= gorfd | |§d o

aTdl: Fepeldd HOIdied, Bhled, Hdgled T | Al 376 aI&d: #8
faeqa sl aresIiA@ | dsET fagel ¥GT6 T ool doid | 376 Sl fHATarta,
3AAIE JUH T | YT Fod 3colad IO dafed | Fed 3
TIUTIT S 9T, Farfad o et | & a3 wsfd vAG fdears: |
MAar 9 3IH 3T fagUA: | 3¢ sga: vd: fdgem: = dfed |
gem: o ¥ fdemlea | gay fafqurfer wenfer orarg @ gearior fausied
| A% STl 3ehTd e FARRSed | d 9d 37did Alged | 38A
7T 3rdla A | Secaem aifelan: gean: gera: HY 3mhelfed | del aTe:
sfiar: stafed | fdgam: A Foifed | IY: Awg Aeq deld, TEUTOT Faree
qdeg: Teofed o | aF gouon qoiel o fafqur quie geam: | ad
3TATH AF AlGd | UTgH, THhRIGId: FAalkeld: Gad: 3ed |

3oleh STelT: 38T TG HARTS-d|
, faerrdm

Correct Answer :-

, faemneie



9alla Ufacar srenfafesesy ey gaga;cd«i qad -

EAIAATRAT Had ey o gicgsld |
THEECAFAT HAl WAl MPAATTUs#HI |

el TId Y-8l IAHEET Siidei |
=Ud: THAT ole: T AeecddT: gelard: I
o] c ~J Mo |

THET AhehRUTH SCHTED -

. el HUIHIVTH

| GRRYFTA

; dodlddlHaH

4 I—rIIEIIFIIIEII:
Correct Answer :-
R IGISICIE
17)
eellehl GfScar ITNfATCTeEd Teaed AgHcN AT -
FAIfARIRA #ad [Helv o aRcgaid |
THRECAFAT HAl WAl AMehAeATTUs#Td ||
el T Y- THAT IAHAEY Sideiia |
=Id: THAT oIel: Tl HegedF=T: Jatdid: ||
e | c e | e |
$ee Had o IRcId -
INETEIdA
1. 2 =
2 IERLICDRE
JaRdH

3. -



4 -

Correct Answer :-

ellohl UToaar srefafeseey yeaey gr.ga;cdi A -

18)

FAfATHIRT #ad ey o IRcgeid |

ATl Hcll Al AMehAeATIUssTac |

TEid, T Gl THcAT FA-HEET SAIai1e |

by [ [«
d: THAr Sel: TalfHegeds=l: gaaara: ||
e ] c 2 e

“Fdr sfd deeg T 7 safa -



IR=oe 9fecar yeaed &Agagcd{ gaad -

ThEd Fededd dod feafa afed | Ay gum: g eafa |
JGara: greemen: aHEeT Gaq: | U9are]: 39egaey 16 #Aaid |
aar #H7  SRIGA: 3-8 Hafd | AIAE el A IG¥ o eaafd
| O 316 AU &Y IATEH IETeAard | GAETET §AY eI sard
| JeduANYT gRIYAed Yot | 31§ fafe=n ardr: 3= goifd | §d dn:
gqrdl: Fgelel 3Uied, Fhled, Hagled T | Udae 376 aa&d: @8
faEqd dgrel IeSIfd | dsEr fagel TTs T el ddd | 3 Sl fuarta,
3R TR T | g ST 3cCads Tudl: safea | Feraa 3%
EqUIT S UTCAITA, Farfed o el | 8 99 9s[d vHAG fdeara: |
Udaray |1 9g# 36T [AgdA: | 3¢ dgd: 9ud: fagem: T afed |
gem: o 9 fdeafea | galy fafaura wenfar oag o gewrfor favrsiea
| HAd ST 3 fdgRel AnRSled | & §d 3Adid HAlged | 36H
3T cfa A | TR TIfedr: gear: 9e@E: Y fed | O are:
sfIan: stafed | fagam: AR Foifed | a: Ao HAeq deld, TSUIOT Falee
qdeg: Teofed I | 9 geuon gois ¥ fafdurs quie geama: | o
AT A HAled | g, dFRIGad: HaRolh: Gad: I |

qd TATEed: ardr: Hcdl ghied |



HloTch:

4.

Correct Answer :-

Yellehl fScar IeNfAfeTesd TRaey qgdAca I -

22)

oI Thedddl JEleasAl TEIIueid=d# |
JFAT ATSNegearsaT gal Alelecseld: I

IFTETT &TAT HATeeARIFA: AFTAETI |
HIIAR: AL Tl CGRIcha e H I

fEUgeT T vNT -
oTEHT
&Il

RMAT
IRy

4.
Correct Answer :-

G

3.



Yellehl fScar IeNfAfeTesd TRaed qgdAca I -

oI hedddl {EleegAl TaIIueid=dia |
JFAT ATSNegGearsaT gal Alelecseld: I

IFTETT &TAT hATeARIFA: AFTAEI |

FIAA: FEEH doocd GdheeH ||

el &TAT AT ?

SELS

2. 2

bt
. AfFTaT

Correct Answer :-

ey

3.
%?ISI'CI?\.QT:
4,

Correct Answer :-

25)

fRcaeer 3feaed Tihd: Hfd Fdamar: dfed ?
| |edeer
peCical



| 3TseTaer
, SAdGeT

Correct Answer :-

3.
, 3Trdag

Correct Answer :-

27)
eelleht afScar srenfAfesery ueerey el Jad -
T HEIddT Wieas Al BIudgenfi-ia |
IFCAT ATSIegeededT &l Alelecseld: |
fFTETA &TAT FATeATRIFA: AFTATETI |
FIar: TOFS T GelheeHA |
TY: Qdd o &I -
. 3IRIeFd:
L
2. ™



EREESICE
AU
refiarer-erAT

1.

2.

29) .
Yollenl afecar srenfafesess ueeaed UgHccl qaad -

o HEATAT Wicas Al BT« |
JFcl ATSIrgecdlsaT &l Aeecssd: |

AfFAETY &TAT PTeaTRIF: AFAATETI |
HIJAR: TEFH dacy GRTcha&{H ||

GARTUH 3 ddeY -



ool ufscar srenfafdsesr ueaEy ?_J)agagcdi gad -

o FHEAdIT Eleas Al BITIAH |
IFAT ATSNegearsaT gal Aledecsfeld: i

FAETY TAT pdleaARIcFd: AFAATETI |

FIAAT: FAEH Joocd GRlHheeA ||

“Teieoddl” 5fd U 3T Gfewn: 3T -

Topic:- HINDI (HIN)

1) “fEY I T T D1 hed ¢ orad te Hiftd smer & Wiar fe fawg &1 auf= a1 ufdures ve fagiy fisfiue, a=dear, diga ok
Tellqdr dUT AT T 3R Yagdl & 1Y foear war 811> g8 Sy s gR1 forar mar g2

1. SIS

2. gAY I §=
3. Ui

4. ST TSR

Correct Answer :-

2) SN & I$a UY’ fpas gry forf@a e @2
1. THSHAY YA

2. FerAy Rig

3. TAIGRRAM it

4. gR T

Correct Answer :-

o JH3EY TRA

3) Pt t3 ¥ <o § P § A e sz T8 flar 22



1. Oyt fafy

2. 73 g3

3. BT T=AT

4, Gra1 ¥

Correct Answer :-

. Qrarg=

4) fgror werae AT, Rraror st ufthar @t -
1. SR G|

2. Had TgaT Hch |
3. Haq ORd B &1
4. Had gHIfAd A g 1

Correct Answer :-

. QSWRIE gt

5) S & AT TA B & -

1. HegTITerar

2. 3 wgw

3. M9 T4 faar

4. TR TG o

Correct Answer :-

. 4G T faR

6) T8 Q B & FdysR & =0 § Ui &2
1. foremfrare farg

2. FeoaTard iy

3. GRRIHR RS

4, ARGATETE agdat

Correct Answer :-

7) 3T q P91 Y ST UPR T8 82
1. TAITOPR daeh Faey

2, Hicdard! Feiy

3. Aifefde Mey

4, Afera Ay

Correct Answer :-
. Sicdard fay

8) TTH A BT HeT rigia R & 7t gam?

1. 3BT

2. 7% BEH!

3. WAt e

4. STTATE BB

Correct Answer :-



9) @S et fw ot @uuT) Y Sl 32
1. e f&d

2. TSR

3. TRTS

4, gdf f&t

Correct Answer :-

- Uy iR

10) ‘argafer fraat wer @2
1. 94g

2. A U

3. ga¥

4, T A

Correct Answer :-

11) - 1t ggyfirdl & ¥ s 817 & SR I & Weal Td STARVH -
1. Yaprofar org I 81

2. gAFAT ST B

3. WEAT BN &

4. fafqerar ar$ St 81

Correct Answer :-

. fofaear o St 31

12) T 1954 H TSI T Ffar ufer & Hures & -
1. ST, AT Agdal 3R ST, T T

2. 1 TR g

3. IHYR feAdR

4. SRTETR Iqddt

Correct Answer :-
. ST IFRaEY Tgdct iR ST S T
13) Sfaeri= wfa foer fras snufa sfa 32
1. AERIST SR
2. HERTS ST
3. N FGR®
4, BAUL FRrarofl TERTS

Correct Answer :-

. HERT SRkl

14) fAYUI P STYR W UINT & S A QY FU 82
1. T, STeiTe TS

2. AP, ASTHTHT



3. &, 3R HIoT
4, TRfSra o, SifAfSa v

Correct Answer :-

o TR W, i3 v

15) UTGUYEID HETID EIell § -

1. IRIad ot

2. 4 UIGAHH P IRd oHH I I
3. Had e & vl 3 Saa FA A

4. H9d W-HTYT H

Correct Answer :-

. IR gt

16) eafrdl &1 yeite! § frftiam $X UTIT B R 8= A $ $5d § -
1. o fafy

2. sfaur fafy

3. are fafy

4. U3 fafy

Correct Answer :-

. oRa fafdy

17) U @ H qaiuR weer | a1 9 82
1. %0 A uF g

2. o B fafdy foram

3. IR H&Y F1E 1

4. gdfered ot &bt ey

Correct Answer :-

RGN ITCRREICI R A

18) g=al P HTAT @M & we & Riere H13ewa gIaT 3 -
1. ¥ 31 ufohar & fawar &1

2. S & SATNUTTD! BT Y8 HAT

3. S ! TepH &1 & ol

4. S 9 30T B Fdbaar & forg

Correct Answer :-

. e ot ufshan & fawar &

19) WofteR 1YY f5H PR & FEFIGR 7 919 §2
1. AT

2. $fiferh

3. Jfew

4, Ui

Correct Answer :-



20) JiETHE Ud Fd ‘AleraT Mde dgreTed fhd UfasTRie Aergey & siaq W sutfa 82
1. AT e

2. U 95 99

3. TRER IEAHTS Ted

4, TElE WTa Rig

Correct Answer :-

- HETE e

21) ISR U BT IUGNT -

1. BT U gasR & fu g g |

2. Haa JafdTd T & g fovan o g g |
3. 3% % iR U7 FaER & fere g g1

4. IIRRTPIT U7 FIGR & o e g

Correct Answer :-

. P ViR 7F FGER & U 8|

22) fafty &1 wahr v &t e sifraafa o gt -
1. Mfa®

2. Qipfad

3. fafea

4, 3

Correct Answer :-

23) o wfaa & Afoidt &t 3991 7 $3F Broy Risgial 91 q&1vi F SR BT 3911 B 8, I8 F1 HgT AT 82
1. Jfofg =fa

2. dfdes ®fd

3. YA Bid

4, Jfegad Bfa

Correct Answer :-

. JfoReg wfa

24) U1 fR401 & 1T F9 3R F& 5 vsfy $1 HeRT A ARY, THS TEERY g B -
1. g 1

2. faera &t

3. BEI B

4, ATaT-foar &t

Correct Answer :-

. e 3

25) Ifreaf Bz A MRE R -
1. H9d SreT

2. Haq fora

3.9

4. SiET 3R ferar gt



Correct Answer :-

o e AR forg gt

26) EYHN U § FRATT R g1 S1ar 32
1. fafy

2. TareA

3. gXlER

4, S&

Correct Answer :-

27) T 1 § S & gEAeR BEl g AeY?

1. T3 & 3fd # arff 3R

2. T F AT HTE 3R

3G I®R

4. T3 & RY H arff 3R

Correct Answer :-

. UA % 3fd i ok

28) gfFaary = fd &fa 31 <3ray &1 fram s Far U2
1. St

2. AT

3, godita™
4, A

Correct Answer :-

29) g ¥ A frw geTay @1 3 «3Fug g gar R
1. U S T |

2. S BT

3. FHH F3 1A FR aS|

4. BTN &R TG SRIR |

Correct Answer :-

. BT 3R HY RISR|

30) fore & & urew T faTd & -
1. IRIad ot

2. $ad arg-faarg

3. $ad XSHI

4, HIA SAERY

Correct Answer :-

« IR gt

31) T A AT & VT F YR W 9199 BT B-971 g T8 82
1. T g



2. Y ATED AT

3. IR AT

4. g 1

Correct Answer :-

o YYD 9l

32) FE A A fRPU ToR & T & Far & feran wrar 32
1. uiRaTie o

2. Sfu=Tes o

3. 3FITAIR® UF

4. Jufdde U=

Correct Answer :-

. MRS o=

33) o & @ -3 faivar weiat A @1 82
1. Gebich b1 1 PRIer gl 81

2. Uohian! AR ol gl €1

3. TH®! H TP B UA Sl |

4. Upies! 7 U €1 3fh Bl g1

Correct Answer :-

. TS A TH § Sip gl

34) Pafaf@a iR AP W o< -
HrameR TRYFERT e W< 7 |

T T g g AT AR § |
Afeat 9w yare,pd AR AvSA & |

a1 ffay fag, w1 Rim 81

R S waig ¢, ST sW Aw A
F Ay o €, wqur ARl wd
1.4 Bq

2. DI BR

3. el o

4. B o<

Correct Answer :-
. BUIBQ
35) o & gl &t wrwn e FRAT A R -
1. UT6d-a%g &1 T80T A 1
2. Tea =Ry Feitt
3. it et
4, qIRI-ERT Haeft
Correct Answer :-

- UTGY-aE] B UG B H

36) Tl & S AT AT I GABR THY A4 B FopaT R -



1. @
2. au
3. 734

4. HIYIT

Correct Answer :-

37) fr=fafEa & @ o= w1 Su=ara e areh a1 e R
1. Bl SffEq

2.

3. 9

4.l

Correct Answer :-

« e sfEq

38) g W1 HRam FT &1 & 1Y U1 81 §1 98 U= A & A fraer 3-
1. Uraea

2. fors

3. I

4, TR

Correct Answer :-
. TR
39) G4 $1 fafafy afg Taw 3R IwaRh gt ot -
1. 3 AYTE g1
2. = UAT BT S § Bl |
3. = 3t T dhfed gl A |
4, I DT H SRR G|

Correct Answer :-

. I 3P A HEd R Al

40) fr wETET F RRIT IwYT Rig fA® 31 91 1972 €. ® <URdg gdis REere ueH fBar mr g?
1. 3d=h

2.§PR

3. IR

4. o8&

Correct Answer :-

41) i g€ ara Bt R sifres gevman S 9% I &t ot IR 9% a1g i Yo, ug Risia B -
1. 997 %1 i

2. Rugror g3 &1 Rigia

3. 3MRI &1 Rigid

4. e &1 Rygia

Correct Answer :-



42) Tt Ffaar & Saed gt T F u-Tar 74T 8, 39 | 98 fhaeT udls @2
1. 318 & fagei &1

2. 3T ITE, SaTehtel 3R TG &

3. QefhTd fagg &

4, Upta TA HT

Correct Answer :-
. SMCRI ITE, STaTHIET SR TG BT
43) T TSR U7 AW Ft fadwarsit A Fra A A fra fog & 9 arn wman @2
1. TIfos TexiA
2. TR Ut
3. U3 oG & 3T T HIGR
4, foaRY &t gEapdr
Correct Answer :-

. Ut ye=H

44) CANCELLED
FrafafEe ufemal & o= @i sror 32
g 33« ufgafvai wrelt

3 Py 7 fagdt oo sirefi|

1. TTEIOT RMeg; QK

2. ST Teg Rfdd

3. SHfHYT 2eg TR

4. Gl Weg AfH

Correct Answer :-
« oI Weg WK
45) 3 B5 ¥ yd® 0T & 14 3R 12 F 918 AR (afd) 3R 26 A=Y S § ST B F PEAR -
1. R s
2. NP B
3. BT
4. <181 B3

Correct Answer :-

. Tifde B

46) “BHTATE Idd: P & §19 Siaq BT IEY 2, STBT d =i wataarg 210
IWf HU T IR FeT AT B2

1. TSRO AT

2. STORIAR YIS

3. TR Rig fear

4. AgTedl aHt

Correct Answer :-

. TgIedt ant



47) Fufaf@a iR d sl ar o< @2

TR, R TH A F g A R T A AN g, Iova o1t @ arfy @rar e &)

T, HeT I S BT T SR 3T g AR S TR oyt U € s 21
1. HEIPT B4

2. IOt e

3. Rrafol o<

4. T B

Correct Answer :-
. HeIhI1 85
48) PP NS F IR A T TATR -

ugqa%?uwmavhmuﬂélmmmﬁﬁﬁmﬁm,ﬁmwﬁmﬁmmmw%maﬂaﬂmm
B

1. IR BT
2. HglhTg
3. QRIOT

4. TEAT

Correct Answer :-

. IRA BT

49) WEl fawey qard-

R d sea A Hfasaa @ sd T HEA B |
1. GRA 0T

2. S TOT

3. RIS U1

4, TR 7O

Correct Answer :-

50) el fawed ey -

TP Sidifd O et faaR-a a1 Wi —URT & afRyd T&d & 1 59 391 § Hia a1 fuR &1 Ao wawr: figard aar @, 3o 9 Pagarwa 21
1. Uy b1

2. Ay w1y

3. RV BT

4. Ry w1

Correct Answer :-

. Py s

51) Wel fawey qargy -

ek Sfta= & &t smueht wud 3t Agwayf S TR R Fgar Bl 31
1. ST U

2. AFHTST

3. GIfgfAe st

4. ISTHTET



Correct Answer :-

52) PrafafRd dfem § $19-91 seeR 82

THA-TE ST TR I AT SIS g WA g T S
1. TRYemuTy SR

2. Yifed™ Sd®dR

3. g DR

4. 3UHT DR

Correct Answer :-

. Ry SR

Correct Answer :-

. fdaRd@

54) g faed garga-

Tt ey v wyH W e 8, Rafta S ot e dfeygaifs . =@ gl
1. G UYH 1 fFaRR”Io®

2. 58 YU AT Il

3. JA9P IR HSHTS

4. BT UYH 1 faRIeis

Correct Answer :-

. i vuE g1 faaRIdsie

55) o et & e, sro-ufveTa, fame-oiva ot oo gt 31 B9 Fra=il o5t o FIEA B
1. 7R

2. 3l g

3. sifaeraifaagu

4. gl 3R 2 TaER

Correct Answer :-

« TAdT 3R P SIaER

56) 3R Wt & 3AERI-AG- ¥ BToU-FUl & Y P 3TIE 91 2l $S @l & WAIIUR AIied BT AMefds sioer-ae aifga-=ut 35t
URATATAT F AT TR AR a1 21 IT5T BT @ b iz &1 sfagma aiftc-=ul &1 sfagr 31 sMw ot & ag It 31 W fawnsi &1 o=
3R ufad ve fafkry e e & €1 81 U wramalt & 91¢ A1t -1 9qd oI 81 SR 39 9o $ $o YeIRie SR g | 57 RN
P TI F S(uTa F AT BT FHTS-HYa ey Tel g

uf¥ede & TgHe - T e vy &1 I« fafaw:

TR & SR faursit &1 aa= 3R ufad— sa glare?
1. URadHaT o

2. HTI-EU H



3. QTS HYad e o
4. fafkry UfoeTRie uffRuforl

Correct Answer :-

- faf2ry Aderiyes uRkfeufaat &

57) 3R Wt & 3AeTH-G@ § BT-FUl & 3eTg BT 3TE 961 & | $O ANl & TdIAR JTed $T AIefdd sfaery-aa- Aifgw-=ul &1
TREAHAT & AT TR TR BT 8 1 ST ®e- ¢ fb a1t &1 3fagry aiftd-=ul o1 sfaer 81 eMe o # a8 udl 81 W faursi &1
T 3R ufad v Al AfaeiRie dey & €1d1 21 U Sramafy & 91¢ A1it™-FU gea Srd €1 SRR 39 Sead & $O Ae1ie eRul
i1 39 PRUN B WS & 3UTT § T &1 THTI-gw sfogra =8 ghm|

IR B UgHR - 3T Y vy &1 S« fafe:

1 RN ) W F 3ruTa § AR BT FHTS-HYa SaerT 78] &) gPpar
1. sfgr oA

2. LT & 3T

3. HTI-FUI & AT

4. AR =0} & FCardl b RO

Correct Answer :-

. UIfed-FUl & SEaral & HRON

58) 3R W™ & 3AeTH-G@ A PTH-FUI F TTH BT 3T T 8 | TS ANl & FAIAR ITied FT i sfogry-aa- difgd-=ul &1
URETHATAT F AT W YT BT 21 S7PT BeT & fb qiiecy &1 3faery Giied-=u) &7 3fagr 21 3 3dT § 9 9l &1 W furaii &7
T 3R uRadH e fafkw efaeiie weuf & g1a1 81 U wramafy & 91g Aifitw™-FU ged WId &1 3M¥R 59 Jead & $9 UasTiie HRoT
i1 39 PRUN $1 WS & 3rUTa W W1 &1 THTH- g sfogra 48 ghm|

TR=3E P Ugee - AT MY w1 I frfe:
g TTEIiRI 1 SR i 8 wanar 82

1. GHNS-UYad Aifgdiag™

2. 1oy 3R sfagrd

3. Ifecd 3R &

4. faymma uftad=

Correct Answer :-

59) R WA & FAeTN-A@ § HTU-FUI & AAYT HT 3TUE 961 8 | TS I &b AR Al &1 i [Aw sfaer-d@= Aifgd-=uy &t
TRGIATAT & AT R YT BiaT 8 | 3771 He-1 & fF At o1 3faerd AIied-=ul 31 3fae™ g1 M o & ag I 1 w faumsii &1
T 3R yfRad e fafke Afcerie weu & gia1 81 U wramafy & 91¢ A1fi™-FU gea Id €1 3MfAR 39 Sead & $9 aeTiid Rl
B 1 39 PRUN Y TS & AUTT § TR BT TUS-AYd 3iaaRT T8 ghm|

TR e &) Uga? 1 T U vy &1 3R faf¥w:

RN & AR 5 gqara & ft taeiiie sror gl
1. fqemaft

2. Sfagr oA

3. Aifecd-&ut

4. Ve e

Correct Answer :-

60) R WYY & FAeT-A@ H HTU-FUI F AAYT BT 3TUE 981 8 | $O I b IR Al BT g [d Fiaer-a@ AIgd-=u) B
TREAHTT & AT TR YT BT 8 | ST ®e ¢ fF a1t &1 3faer aiftw-=ul o1 sfaer 81 eM® o #f a8 9l 81 W fwrsi &1
TG 3R ufvad e Al Afaeiiie deu & €1d1 21 U Sramafy & 91¢ A1it™-FU gea ord €1 AR 59 Sead & $O Aelie Rl
Fi 1 39 PRUN B WS & SAUTT T A FT THTI-HYT sfogra =781 ghm|

e &1 tgar i AT T vy &1 3wk fafau:
TN & IR At & Sfagr-aa- § f[Pae 3reaa= $1 3Me 9e18?



1. PII-=U

2. PRUN & e
3. Slo-Ugfad!

4. WfcreTre deu

Correct Answer :-



